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Review for Intermediate Algebra Test@ T
Questions 1 through 4 refer to the following:

ﬁiﬁ the given expression:

D @2-x+9)+(h2+&-15)

A) 10x2-3x+6 0 1x2+3x+6
1062 +3x-6 D) 10x2-3x-6
2 (8% - 125347+ %)
A) 2p%-3pgr O 3%-2%r
B) 3pq-2p4° @3;’2-2qu
3)  (a-4b)-(a+2b)
A) -8a-2b O -10(a+b)
®) Sa-6 D) -14(a-b)
4 4Ex-2)+763-2)
A) 2x+13 2x+13
B) -2x-13 D) 2¢-13
5)  Whatis 8y2+4y - 3 subtracted from 52 +2y- 1?
@ 32-2p+2 0 3H2-p+2
B) -3y2+2y-2 D) 32+2-2
6) Find the product of the given expression:
@
-105 + 2062 @ -1063 +20b%
B) -1063 - 2064 D) -1062- 2052

Questions 7 through 9 refer to the following:

Bxpand and simplify the given polynomials:

N &-20-9
542222y %0
» P (3x w\(gm\b expard

Ox=+ Gxy +y°

BRSSO ——— B 4

9 @+ox--
Tx- 13
10) Which binomial is equivalent to 3(x - 1) 2x - 3)?
A) x-17 x+3
B) x+5 5.7
11) Find the quotient of the given expression:
1274207 + 8
™
Rt O m-stent
ja- 42 D) ».ul+x

Answer Ky

12) What is the solution for x given the equation 3x - 31 =-76.

-15 o 15
107 107
B) 5 o)
13) What is the solution for x given the equation ?t +23=-25?
A) 75 Q 7
-60 D) 60
14) Whatis the value of  in the equation x +3 =37
I 7
1 1
@ 5 D)3

Questions 15 through 19 refer to the following:

Solve the given equation for the variable:

15) 16=8-4
A) 6 B) 4 @-2 D)
o 5
3
A) 5 0 6
(B))9 D) 1
17) T-35=%
A) 5 B) $ 0 -7 @ 7
18) 2%+20=52-Gx
A) 18 @ 4
B) 9 ) 4
19) 5-3@+2)=2d+1)-2d
A) 1 -1
ol ©-
3 D) -3

20) What is the solution for » given the equation
4n+32=8n-n+147

Nn=0b
21) Determine the solution forx in the equation 0.8x +32=0.4x.
) What is the value of  in the equation 0.6(n + 10) = 3.6?
4 Qs
-4 D) -04
23) Use the distributive property to solve for s in the equation
4= 15 - +12)

ol A



24)

25) Solve %@

Cross mo\ngy

. X
kamdxh&epmpm% S (m@ e
5 O 15X

Ho = 1O%

DR i
N R X1

26) Solve )(: Z.

27)

28)

29)

30)

31)

Hm:pphlwzsem,howmchmﬂnappbamt?
_‘9 g :&_2_ X =, 55
2 K

7 out of 12 students surveyed enjoyed playing basketball. If
696 students are surveyed, how many would you expect to 7 X

A) 39 198 12 90
B) 290 406

What is the solution to the inequality 8 - x <23?
A) x<-I5 x>-l5 0 £>31 D) x<3l
Solve the given inequality for the domain of the set of real numbers:

5x - 18> 2(4x - 15)

A) x>4 x<4 0 x<4 D) x>

Which of the following represents the solution set and graph for the inequality 2x-7+3x > 8

SR -6-4-3-2-1013345 @t’l $432-1012345

B 2 4321012346 D) ¥> A 4321012345
Solve the following inequalities:

32) 5-(6-x)<3
X <

33) e-H+Zx+N>244

p B2

34) Julie's wages vary diseotly as the sumber of hours that he works. Ifhis wages for 5 hours are $29.75, how much will he cam for

30 houns? (Show all work.) ;i 7)0

e = $41 .50
K15 X% x4



